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SCalc 2.3.001. [3354261]

1. + Question Details

Differentiate the function.

')_80 ‘s co—v&%%#

fx) = 2% J
solel=0
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2. + Question Details SCalcB 2.3.003. [3354352]
Differentiate the function. ,
fix) = 5.9x + 2.8 6z m = 59
3 + Question Details SCalcg 2.3.004. [3354176]
I

Differentiate the function.
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SCalcs 2.3.007. [3354347]

6= Ux (1-6:) 4+ X2 (=6)

4. + Question Details
Differentiate the function. N
a(x) = x2(1 — 6x) = 2y 25’ —Gx?
=X (3 —=> - - lxtiryx
9' ()= 2x~18x = -y
5.  + Question Details SCalcB 2.3.009. [3354283] - (r@— % = \2
Differentiate the function. -5
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6. + Question Details SCalcg 2.3.010.
Differentiate the function.
Ve
B =y =R O -BQj‘?
7. + Question Details SCalcd 2.3.016.
Differentiate the function.
/
SRy =8mRZ —> IR = S (QX = gc_(i‘f
a. + Question Details WCalcd 2.3.017 ML
Differentiate the function.
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9.+ Question Details Calcg 2.3.027.M @\ 06((4 c‘)’ DMQ .
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10. + Question Details SCalcB 2.3.029.
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1. @ tion Detail SCalcd 2.3.036.
o faesten = va\/’)( s‘pﬂ—ﬁ Fto C{Ma’lﬁ \—QC\AM,
Differentiate.
~ 4 Need Quotiendt B
y= v X
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xr9 | 3 -5 3
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12. + Question Details SCalcd 2.3.037. (X*q)z
Differentiate. 3 7(\ ’ _Jp r :i%’)_,_ } j,fi—?ﬂ_
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13. + 0 tion Detail SCalcB 2.3.043.
uestion ils | (w+aw")_ w () _aw‘_z)
Differentiate. ; -
w et == {w)~ Gt aw=' )
& = I
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14.  + Question Details SCalcd 2.3.051. [3354341]
Find an equation of the tangent line to the curve at the given point.
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15.  + Question Details SCalcé 2.3.053. [3354165]

(a) The curve y = 1/(1 + x2) is called a witch of Maria Agnesi. Find an equation of the tangent line to this curve at

the point [:—1r %}

(b} Illustrate part (a) by graphing the curve and tangent line on the same screen.
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16. + Question Details SCalc 2.3.054. [385881¢

(a) The curve y =x/({1 + x2) is called a serpentine. Find an equation of the tangent line to this curve at the point
(3, 0.30).

(b} Illustrate part {(a) by graphing the curve and tangent line on the same screen.

Q(X\—' X . gl()ﬂ-—' Vi) - x (2)
o (& )™
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17.  + Guestion Details SCalcB 2.3.058. [3354227]

Find equations of the tangent line and normal line to the curve at the given point.

i~

18. + Question Details SCalcd 2.3.060. [3354316]

Find the first and second derivative of the function.

G =7+ V7
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19.  + Question Details SCalct 2.3.061. [3354121]

Find the first and second denvatives of the function.

x2
x:
fx) 1+ 6x

20.  + Question Details SCalcB 2.3.065. [3354365] -

Biologists have proposed a cubic polynomial to model the length L of rock bass at age A:
[ =0.01554% — 0.37242 + 2.054 + 1.21
where L is measured in inches and A in years. Calculate

a

. (Round your answer to three decimal places.)
dAlg=11

) Interpret your answer.

2. =+ Question Details SCalcd 2.3.069. [3354369]

Suppose that f5) =1, f'(5) =3, g(3) = -4, and g'(5) = 6. Find the following values.
@ (f@(s5)

(b)  (#ag)(5)
e} (@/Nis)
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22,  + Question Details

SCalcd 2.3.072

If 71(2) =28 and h2) = -2, find

d ( hix)}
..

voX
=

23. + Question Details

SCalcg 2.3.076. [3354325]

(a) y=x%fx)

_ fix)
(b) ¥ e
= X?
(' %)

If fis a differentiable function, find an expression for the derivative of each of the following functions.
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For what values of x does the graph of fix) have a horizontal tangent? (Enter your answers as a comma-separated
list.)

Ax)=x +9x2 +x+ 3

Find an equation of the normal line to the curve y = /x thatis parallel to the line 2x + ¥ = 1.

Find a second-degree polynomial P such that P(3) =6, P{3) =7, and P"(3) = 4,
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